

# Townhouse in Zabbar



**Zabbar, South**



**€270,000**

Reference No: 240271011-463

 Total Rooms: **5**

 Floor Area (m<sup>2</sup>) : **51**

 Bathrooms: **2**

 Bedrooms: **1**

# Townhouse - For Sale - Zabbar

ZABBAR - TOWNHOUSE - Located in the heart of this village and close to all amenities comes this unconverted property. It comprises of a Living/Dining room, a separate Kitchen, a main Bathroom, a main Bedroom, a Backyard, a Washroom, a full Roof and Airspace. This property, once converted, will make a nice and cosy home. Freehold. Call your agent now for more info and viewings.

## Features

- ✓ Air Space
- ✓ Back Yard
- ✓ Balcony

## Rooms

- ✓ Kitchen : 3.46 x 1.8 m (6.23 m<sup>2</sup>)
- ✓ Living/Dining : 4.37 x 4.05 m (17.7 m<sup>2</sup>)
- ✓ Double Bedroom : 4.37 x 4.05 m (17.7 m<sup>2</sup>)
- ✓ Bathroom : 1.21 x 1.39 m (1.68 m<sup>2</sup>)
- ✓ Bathroom : 2.12 x 1.55 m (3.29 m<sup>2</sup>)
- ✓ Open Space : 0.8 x 1.12 m (0.9 m<sup>2</sup>)
- ✓ Open Space : 3.14 x 1.54 m (4.84 m<sup>2</sup>)

# Gallery







**Dean Camilleri**  
RE/MAX South - Marsascala

M: 99838181  
E: [dean@remax.com.mt](mailto:dean@remax.com.mt)  
T: 21555000

**RE/MAX South - Marsascala**  
53, Triq is-Salini, Marsascala, Malta